T /Mathematics 3@{5"1 - L / Vedabhushan First Year Set A
@ / 991 - 1 / Class 6% / First - 1
9 95 @& / Que. Paper No.:  1/22-23/7TUr/
SiTS R ¥ ST®T / To be filled in by Pratishthan
ikl &1 f3aXT / Details of Marks
o / QI / i / e % EEATER
Subject Max. Marks | Marks obtained Sign. of examiner
7T/ Mathematics 100
forer - tfoTq
e fashed & |m« (v) g FRY/Mark (v) against the correct option 10x2=20

2,9, 7 I} G T I T TSI &I ER TN

The largest number that can be formed from the digits 2, 9, 7 will be -

9.1,
@) 792
@) 279
9.2. . EAEIE
@) 1/2
@ 3/1
9.3
@) 300
@ 3
94

the number (-13)?

(%)
(§)

@M/ Profit
&1/ Loss

(@) 297

972

(9

| The fraction of given figure is -

()

@)

C)

@)

@)

@)

1/3
T4 § FiS A&

&1 137 | 3 F A A %I The place value of 3 in the number 137 is -

30
137

gl @M/ Profit & Loss

T © FS &

HEAT (-13) | w1 g () f9 g1 &/ What does the minus sign represent in
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B&l / 91 - 1 / Class 6™ / First - 1
U.5. GHAUH AN ....... &1 8 | The measure of a right angle is .......
@) 360° @) 180°
@ 45° @ 90°
96, fd & @ S9UEl F9 & AG FA-G1 &/ Which if the following denotes the

descending order?

(37) ©ed ® F&d/From decreasing to increasing
() ¥=d @%ed/ From increasing to decreasing
@) (i) 7 (ii) =1/both
@ TH4 #1521/ None of the above
9.7. %EI?NT &1 HIA & T/ Acutangleisa -
@) 90° @) 130°
@) 45° @ _160°
9.8, T 14 + 13 F INT FA T 7 9ed &l &/ The value obtained by adding the
number 14+13 will be -
S & 71
@ 17 @ 72
9.9. 4 K GAMS 3% EFTU 4 will be a Parammitra digit.
(®) 2 ® 3
® 6 @ 7
9.10. 3 AT R A ERT /the value of 3 tenths will be.
() 0.3 3
@ 30 @) I A HE
=k Tl 1 9fd HIRTT/ Fill in the blanks. 5x2=10
9.11. 9 I TRIETRA ............ &M | The Ekadhiken of 9 will be .............. (0/10)
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912, 9 & Tl - F O g WHRREHE AT oo FES & |

(Afcr=ae) T /FHTR @)
When two lines intersects each other at a point, then they are called ..............

(Intersecting Line / Parallel Line)

9.13. T&AT8 x 7 HIPEARS ............. T8 &RT |/ Number of 8 x 7 will be product.
(56/65)
9.14. EEI103 FH TWEA G T oo, & |/ The next number after 03 is -
(02/04)
9.15. &5 & solve: —4+2 =
TE! SISt Y / match the colom 5x2=10
u.16. o e ® g @ 9t HEH
Vinculum's sign less than 90°
9.17. &9 1 9RAY (@)
Perimeter of square
.18, THIGHG # (g (1) 4 x 3=l
Symbol of proportion 4 x side
9.19. = % T ) — (i)
Vertices of cube
9.20. =GR / Aclite angle (&) 8
A /3HA ddRY / State true or false. 5x1=5

9.21. Scdsh 9 i AT IEH! [SF1 I A& 2 |

The diameter of each circle is half of its radius.
9.22. GEAT e Tl el dea aE g |

Fifty two comes before fifty three.
9.23. 1 H T B0 THE IO £ £ |

Every angle in a square is a right angle.

9.24. 1 fRaHIET = 100 HieX / 1 kilometer = 100 meters
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9.25. & 10.50 F Teg! # 50 €79 10 T4 @ 2
Rs. 10.50 in written as Rs. 50 and 10 Paise
@Wﬁwml Write the answer in one word. 5x1=5
9.26. & GH @, h-gE % TR &1, d9 9§ {@T FEadl £ |
When two similar lines are parallel to each other, they are called as ?
1 3 1 1
927. (®) 1 8 (@) _ 0 2
8 5
9.28. (% (S|
28 ®) X 8 ® X 7
9.29. GEH TSI FRUNCH Ul GEd1 HiA-d1 2 |
Which is the largest negative integer humber.
9.30. Frgst % = R0 H1 97 el e 24
What is the sum of the three angles of a triangle.
HfiSYITa 93 Very short answer question 5x2=10

9.31. &S &/ Simplify :

10-2-1

9.32. ﬁﬁaﬁmm% Tl fawy Ay § aafon

Convert the mixed fraction 3 % into improper fraction.

a§/Year - 2022-23




TTd/ Mathematics 3@{501 - e / Vedabhushan First Year Set A
@ / 991 - 1 / Class 6% / First - 1

9.33. i3 g1 Wi I o= #1 3ifd FX | /Draw a circle and mark the following.

1) IGHT *heg Its center 9) B4t Radius

9.34. fe e | 72 98  emRiiw A 1 37 H 46 98 42 5 | 9 915l gea & o fhae g8 |
3N & |/ Ashish read out 46 pages out of 72 in a day. Flow many pages are
still left to be read?

9.35. ﬁl?l  TERW | / Subtract'the following.

) 32-12 =
q)  32-(-12)=
FYITE 9= /short answer questions 5x4=20

9.36. A AEA F S 3 WX T e 4 WX & A,IE B TS T FAU /If the
length of the rectangle is 3 meters and the breadth is 4 meters, then find the

area of the rectangle?
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937, AR A TE HE H 1/4 do [T 3/4 A1 & 23 F HSEAHT RIT AT A

9.38.

9.39.

9.40.

S o 2RI 1 F&€Y 41 | / Avinash memorized 1/4 and Vikas 3/4 of
Gita's verses in a month, then how many shlokas both of them have

memorized together.

o TRl il STNE] %A (Td H) | fSRaT | / Write dn aseénding order.
89, 98, 88, 99, 87

ot EEATeTl F1 TR FH (92d ) H [6RaT | / Write in descending order.

97, 89, 90,791, 79

T IR A=A § F1 A=K & |/ What is the difference between square and

rectangle.
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Set A

ST Y& Long answer question

941, T Y 5 .. B, I a1 H IRAY T SRS T R

The side of a square is 5 cm., then find the perimeter and area of square.

10x2=20

942, GEAT 45 + 37 % ANTHRS H @ 79I W A6 G&A1 FI G T WAl G adqEy /
Subtract 7 from the total of 45 + 37. Write the pre and post digit of the

answer.
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